

The W term

December-29-11
9:40 AM

Question - which two variable function W will make the following true:

$$W[\alpha_3, c[1|\alpha_3|] + W[\alpha_4, c[1|\alpha_4|] = W[\alpha_4 + \alpha_3(1 + c[1|\alpha_4|), c[1|(\alpha_4 + \alpha_3(1 + c[1|\alpha_4|))|]$$

$$W(\alpha) + W(\beta) = W(\alpha + \beta + c\alpha\beta)$$

$$\begin{aligned} W\left(\alpha - \frac{1}{c}\right) + W\left(\beta - \frac{1}{c}\right) &= W\left(\alpha - \frac{1}{c} + \beta - \frac{1}{c} + c\left(\alpha - \frac{1}{c}\right)\left(\beta - \frac{1}{c}\right)\right) \\ &= W\left(c\alpha\beta - \frac{1}{c}\right) \quad c\alpha\beta - \beta - \alpha + \frac{1}{c} \end{aligned}$$

$$W'(x) = W\left(x - \frac{1}{c}\right) \quad W(2c) = W'\left(x + \frac{1}{c}\right)$$

$$W'(\alpha) + W'(\beta) = W'(c\alpha\beta)$$

$$W'(x) = \log(cx) \quad W(x) = \log(cx + 1)$$

check: